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Roll No. SET : A

HGR fa5
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(Only for Fresh/Re-appear/Improvement/Additional Candidates)
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o FUT TT BT FF 5 I9T-7H F GRT 7T 15 79 797 15 &

Please make sure that the printed pages in this question paper are 15 in number
and it contains 18§ questions.

o Jo7-7H ¥ e & @ G T T8 FS TET Tl § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH TV [iET J@ VT G Yee, F9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagar & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

2209/(Set : A) P.T.O.



(2) 2209/(Set : A)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() o797 G G - & § & 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) T~ B Fo7 @& 1 § 1 3% % 10 FGTT 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 5% &4 ST TLTOT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) G- 52 % T TGINT 597 &1

Section-C consists of 7 Short Answer Type Questions of 2 marks each.

(v) GUE-§ 7 SdRF [A%T & T 4 o7 3 [9rTF g7 &

Section-D consists of 3 Essay Type Questions of 4 marks each with internal
choice.

2209/(Set : A)



(3) 2209/(Set : A)
gug - H

SECTION - A

(egfrs )

(Objective Type Questions)

1. @99 FHad € R 90% 1 3% @l 3 1x10=10
All questions are compulsory and carry 1 mark each.

() ¥ T &0 9 foes fou Iw fean o & 7

(A) T | JeI

(B) %9 g0 W IYH & S aE@d HER

(C) st g N Ay oK
(D) 3-8 A

What is Bluetooth primarily used for ?

(A) Connecting to the internet

(B) Wireless communication between devices over short distances
(C) Long-range wireless communication

(D) Sending e-mails

2209/(Set : A) P.T.O.



(4) 2209/(Set :
(i) 9RemH Ve H GE FE D T DF- SQL HaE H SYART foha S & ?

(A) order by (B) sort by
(C) group by (D) filter by

Which SQL keyword is used to sort the result set ?
(A) order by (B) sort by
(C) group by (D) filter by
(i) FrfoRed & @ $F-91 @ F W G S amn fRes 787 8 ?
(A) Enqueue

(B) Dequeue

(C) Peek

(D) Insert at Position

Which of the following is not an operation performed on a queue ?
(A) Enqueue

(B) Dequeue

(C) Peek

(D) Insert at Position

2209/(Set : A)



(5) 2209/(Set : A)
(iv) U H, T &ifh B ) TH TYAR oW M WX HI9-81 i WO ol & 7

(A) finally (B) except
(C) catch (D) else

In Python, which block is executed when an exception is raised inside the

try block ?
(A) finally (B) except
(C) catch (D) else
(v) (O & g & R et & 39 . B ARG B 2
The main function of a router is to forward ............. between different
networks.
6) R FHIS H TN ST & ST G B & fQ fobam S B
The ........... command is used to retrieve data from a database.

(vii) X P STYAE IS ST 8, @ IFaa: finally block Fenfed fwam sirr &1 (7w orery)
The finally block is only executed, if an exception is raised. (True/False)

2209/(Set : A) P.T.O.



(6) 2209/(Set : A)
(viii) TEEE H, BT @Y & Y REee 7 7T, S $ad ded Ind A & [ R

(e o7

In Python, the default mode for opening a file is 7/, which stands for read-

only mode. (True/False)

35T : 79 Ry 77 g9 (ix TF x)7, SW¥HYT (A) 37T B (R) % &Y F [az77 & %97 &
g9% F97 7 A7 [T T [AEeql 7 7 G871 [T B TqT FHw

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

(ix) SREREA (A): HUST FHIS H I Rl dlfcredr § Ao Rt & a1 H delfed

HH B [T fpar S =
BRI (R) :HAH F [T 9T A4 Pl IRAMT B B [T USE FHIE H a6 9 Farel
31T 21
A) AR (A) AR PRI (R) I 98 & &R ®RT (R), STHH (A) il T& e
2l
(B) TR (A) 8TX BROT (R) A1 @8 & AfPT BRT (R), IR (A) il T8 =re
Sl

(C) SN (A) T 8, AMBT BN (R) 1A B

(D) ST (A) STTT 8, ARBT BT (R) 9 2
2209/(Set : A)



(7) 2209/(Set : A)
Assertion (A) : The UPDATE command is used to modify the values of

existing records in a table.

Reason (R) : The UPDATE command is followed by the SET clause to define

the new values for the column.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

(x) AP (A) : TAE T THR B AAE © Sl @Y P AR a9 Tbal © SR o

FYU T &l T ol
HROT (R) : AERE SR W EEAl a1 WAl § SEa AR ®Ed MWikd 89
afhg 8T B 2|
(A) AR (A) X FR (R) AT 921 B o #RYT (R), S1BeM (A) &l T8 re
2l
(B) SI¥HM (A) X &R (R) A T&l & Al &R (R), S¥HaE (A) & 98t
AT e B

(C) SIRB (A) T B, AP BRT (R) 318 Bl

(D) ST (A) STTT 8, ARBT BT (R) 9 2

2209/(Set : A) P.T.O.



(8) 2209/(Set : A)

Assertion (A) : A virus is a type of malware that can replicate itself and
spread to other Computers.

Reason (R) : Viruses are typically spread by attaching themselves to files or

programs and activating when the file is executed.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

gug -
SECTION - B

(e g 54)

(Very Short Answer Type Questions)

e : g T offFerd T TS U & o 3% 9M+ U U g

All questions are compulsory. Marks are indicated against each question.

2. IR 9 Rl e & g A R #RE # O & 5, O IR R TR & e
I FA © 7 1

What type of error does Python raise, if you try to divide a number by zero ?

2209/(Set : A)



(9) 2209/(Set : A)
gar
OR

e ¥ wEd Oiod @ G0 9 BRM S TN R S § 7

What function is used to open a file in Python ?

3. STEAFE? 1

What is a database ?
4. 9 (BUS) TS B T o @@ & ? 1

What is the primary disadvantage of BUS topology ?

5. P Do N 8 7 HUREIT D HN YA B H T A T 1

What are coaxial cables ? Mention one advantage of using coaxial cable.

Qs -9
SECTION - C

(g 5)

(Short Answer Type Questions)

e : g S oA g TAE U B b 39 A Ru W

All questions are compulsory. Marks are indicated against each question.

6. U ¥ UAE ST § else sifeh &l 941 IGAT & ? 2

What is the use of the else block in exception handling in Python ?

2209/(Set : A) P.T.O.



(10) 2209/(Set : A)

OR
UEEE § EE B Y 9 H & ¢ BEA B ST A & G639 §€ BN F Ao © ¢

How do you close a file in Python ? Why is it important to close a file after using
it ?

7. TEq A FE ? 2

What is Bubble Sort ?

8. SMTP SIEiaid & Igaed & ¢ ? 2

What is the purpose of SMTP protocol ?

9. WY BHAI B Uhd ¥ HEEM A Tag Hdl & 7 2

How do firewalls help in preventing cyber attacks ?

10. Ssfagy Sor Siame &l I & B JHId B 8 7 2

How does bandwidth affect the speed of data transmission ?

YqT

OR

2209/(Set : A)



(11) 2209/(Set : A)
e T R feo ffa

Write short notes on the following :
(@) HTTP
(b) FTP
11. §fF 7 o9 qQUENM WX "QUICK HEAL' Ud-qRRy |ifeddy IWiQ 6l &, 369 9™ § 1%
e US-aRT e @9 & 8, O ITH AU Hihl ST & ST ], WEe] 99 §el BEd

T Tgd B 8, df 98 e & Wi B o M & (Y UO-arRE B S #A W
R & @ B 2

Deepti has installed "QUICK HEAL" antivirus software on her laptop. She notices
that her laptop slows down significantly, when the antivirus performs a system
scan, especially when accessing large files. She is considering disabling the

antivirus to improve system performance.

(i) UH-aRE @ TaH 8 R $ e W 1 I9E gl ©

What impact does running an antivirus scan have on system performance ?

(ii) TOEH & SUAT HXd GHY UEI-qRERd diead] &l o7& HX4 & Fa1 qRong e ¢

What would be the consequences of disabling antivirus software while

using the system ?

2209/(Set : A) P.T.O.



(12) 2209/(Set : A)
12. fl &1 3 TF @il Wad § Y & Sed & U TF @MY &5 qedsh (LAN) ®iiud
T B1 Ul eas T B & 1 it giatee ditear fawed W e & @ R 2

WIPRO company has set up a Local Area Network (LAN) to connect computers in
an office building. The company is considering different transmission media

options to establish the network.

() 39 LAN @< oY & foT a9 ifees Qrg Soe giamee Hifear & ® ?

(A)  Zaws T FE
(B) TRt Feret
(C) WIgaR &ffftess der
(D) aRAE (Wi-Fi)

What is the most cost-effective transmission media for this LAN set-up ?
(A) Twisted Pair Cable

(B) Coaxial Cable

(C) Fibre Optic Cable

(D) Wireless (Wi-Fi)

(i) HH-T1 M Hifea do g W IeaaH S ZEHT T F&H B © ¢

(A)  Zoaws T FE
(B)  HITRET e
(C) PrgaR 3iffiess deft
(D) aRAE (Wi-Fi)

2209/(Set : A)



(13) 2209/(Set : A)
Which transmission media offers the highest data transfer speed over long
distances ?

(A) Twisted Pair Cable (B) Coaxial Cable
(C) Fibre Optic Cable (D) Wireless (Wi-Fi)
gus - g
SECTION - D
(e w9)
(Essay Type Questions)
13. W 3T TR T & ! ©F § ad Sl & o qEeH Sm g 4

What is Stack Data Structure ? Write a Python program to insert element in a
Stack.

YT
OR
UG I % Y Linear Search &l @R 9 Wﬁl

Explain Linear Search in detail with an appropriate example.

14. SQL ¥ & AR 30 MW 9 1 & (DML, DDL 3R DCL) ? 4

What is SQL and what are its primary components (DML, DDL and DCL) ?
HAYAT

OR

2209/(Set : A) P.T.O.



(14) 2209/(Set : A)
FfRed Commands & /AT HY :

() ALTER TABLE
(i) DROP TABLE
(i) DELETE

(iv) INSERT
Explain the following commands :
(i) ALTER TABLE

(i) DROP TABLE

(iiij DELETE
(iv) INSERT
15. Sea et @@ & ¢ Frefiad Jrrs e & 4

(i) STAR

(i) RING

What is Network Topology ? Explain the following topologies :

(i) STAR

(i) RING

2209/(Set : A)



(15) 2209/(Set : A)

37T
OR

i i e i

() LAN

(i) WAN

(iii) Modem
(iv) Gateway
Explain the following :

() LAN

(i) WAN

(iii) Modem

(iv) Gateway

2209/(Set : A)
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HGR fa5
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ACADEMIC/OPEN
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o FUT TT BT FF 5 I9T-7H F GRT 7T 15 79 797 15 &

Please make sure that the printed pages in this question paper are 15 in number
and it contains 18§ questions.

o Jo7-7H ¥ e & @ G T T8 FS TET Tl § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH TV [iET J@ VT G Yee, F9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagar & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

2209/(Set : B) P.T.O.



(2) 2209/(Set : B)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() o797 G G - & § & 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) T~ B Fo7 @& 1 § 1 3% % 10 FGTT 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 5% &4 ST TLTOT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) G- 52 % T TGINT 597 &1

Section-C consists of 7 Short Answer Type Questions of 2 marks each.

(v) GUE-§ 7 SdRF [A%T & T 4 o7 3 [9rTF g7 &

Section-D consists of 3 Essay Type Questions of 4 marks each with internal
choice.

2209/(Set : B)



(3) 2209/(Set : B)
gug - H

SECTION - A

(egfrs )

(Objective Type Questions)

1. @ s ofFard & X % 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.
() TEE F, I A% B SR TF AUER Io¢ AW W HH-91 &b Aeqiied oil & 7
(A) finally (B) except

(C) catch (D) else

In Python, which block is executed when an exception is raised inside the

try block ?
(A) finally (B) except
(C) catch (D) else

(i) =¥ g &9 4 foes U SwEn e o @ ?
(A) FTHT S
(B) %9 g W IYHM & S aE@d AR
(C) sl g N Ay oK
(D) %AW S

2209/(Set : B) P.T.O.



(4) 2209/(Set :
What is Bluetooth primarily used for ?

(A) Connecting to the internet
(B) Wireless communication between devices over short distances
(C) Long-range wireless communication
(D) Sending e-mails

(i) 9RO &T B WE B & MU -8 SQL Figs & ITGN f6ar Il & ?
(A) order by (B) sort by

(C) group by (D) filter by

Which SQL keyword is used to sort the result set ?
(A) order by (B) sort by
(C) group by (D) filter by
(iv) Frfoied & @ F-81 0 F | A W aa fwed 787 7
(A) Enqueue
(B) Dequeue
(C) Peek

(D) Insert at Position

2209/(Set : B)



(5) 2209/(Set : B)

Which of the following is not an operation performed on a queue ?
(A) Enqueue

(B) Dequeue

(C) Peek

(D) Insert at Position

3 T FHHIS B ITN SE & S JTNG FA & QAT S B
The ........... command is used to retrieve data from a database.

(vi) IO & g F R Jeasht & 9 ..o B IRT B 2
The main function of a router is to forward ............. between different
networks.

(vii) IEEM H, BEd G 3 U e #ig 7R, S dad e 3 AiE 3 R R
i/

In Python, the default mode for opening a file is 7', which stands for read-

only mode. (True/False)

2209/(Set : B) P.T.O.



(6) 2209/(Set : B)
(viii) af P STUamE IS@T ST B, A A finally block Feafed far s 1 (@) o)

The finally block is only executed, if an exception is raised. (True/False)

@5 : 79 Ry 7@ g9 (ix TF x)7, SW¥HGT (A) ST B (R) % &Y 7 [Ale77 & F97 &
g9% F97 7 A7 [T T eyl 7 7 G871 [T B T9T FHw

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

(ix) SIHPYUT (A) : TAE TH THR B AAN © ol @ P ARIBT a1 Tbal © SR o
FYU § & T ol

HROT (R) : AERE SR W EEAl a1 WAl § SEa AR ®Ed Muikd 89
AR BT Bad ol

(A)  SIFEEE (A) R HROT (R) AT Tl & R &R0 (R), IRHaE (A) &l T e
2l

(B) SIftwed (A) R FRW (R) a1 @& § AP &R0 (R), I (A) & @&
T e B

(C) STH (A) T &, AP PR (R) 7T 2l

(D) ST (A) STHA 8, Al BN (R) 9 2l

2209/(Set : B)



(7) 2209/(Set : B)

Assertion (A) : A virus is a type of malware that can replicate itself and
spread to other Computers.

Reason (R) : Viruses are typically spread by attaching themselves to files or

programs and activating when the file is executed.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

(x) SIEREA (A) : STUST FHIS H WA Rl dferdl § Al Ree & A & daiEd

HA B forg v S B
HROT (R) : HIEH & [T ¢ AFE H IRAMG H & [T UL FAE B 18 e Ffel
T R
(A) TREE (A) AR FROT (R) a1 T & X 3R (R), ARweE (A) #l 98 e
2l
(B) IRwe (A) 3R ®RYT (R) A1 T&l & Al BROT (R), ST (A) &l T2 e
Sl

(C) SN (A) T 8, QBT BT (R) 1A B

(D) ARMHE (A) T B, AT BT (R) T 2
2200/(Set : B) P.T.0.



(8) 2209/(Set : B)
Assertion (A) : The UPDATE command is used to modify the values of

existing records in a table.

Reason (R) : The UPDATE command is followed by the SET clause to define

the new values for the column.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

gug -
SECTION - B

(e g 54)

(Very Short Answer Type Questions)

e : g T offFerd T TS U & o 3% 9M+ U U g

All questions are compulsory. Marks are indicated against each question.
2. PHUFET B F 2 ? DRI Bad B ST B B g AN T 1

What are coaxial cables ? Mention one advantage of using coaxial cable.

2209/(Set : B)



(9) 2209/(Set : B)
3. IR U Redl dem & g A RER[ &9 O & 8, O I B weR &l e
I BT 8 ? 1

What type of error does Python raise, if you try to divide a number by zero ?

AYAT
OR

geH ¥ wEd Oiod @ [0 h9 B S U R S § 7

What function is used to open a file in Python ?

4, STEA FTE ? ’

What is a database ?

5. a9 (BUS) Aol & HefHEb Jhar & 8 7 1

What is the primary disadvantage of BUS topology ?

Qs -9
SECTION - C

(g 5)

(Short Answer Type Questions)

e : g S oA g TAE U B b 39 A Ru W

All questions are compulsory. Marks are indicated against each question.

6. defigy Ser giafee @ T H BY TG HAT © 7 2

How does bandwidth affect the speed of data transmission ?

2209/(Set : B) P.T.O.



(10) 2209/(Set : B)

fricii o it fewelt fofem

Write short notes on the following :
(@) HTTP
(b) FTP

7. TEEE ¥ AUER ESfiT H else <ifeh & T IYANT & 7 2

What is the use of the else block in exception handling in Python ?

3TeE
OR

UEY § GRS B hY 9 B & ¢ BEA B IW A & G639 §8 B H[ qedq © ¢

How do you close a file in Python ? Why is it important to close a file after using
it ?

8. IP&H F| I &, A THH TAH IGeT R & 7 2

What does IP stand for, and what is its primary purpose ?

9. T A T T ? 2

What is Bubble Sort ?

2209/(Set : B)



(11) 2209/(Set : B)
10. HEEX &0l P b § BEEW HY HEE HLT & ¢ 2

How do firewalls help in preventing cyber attacks ?

11. fl &1 3 TF el Wad § YU & Sed & U TF MY &5 A< (LAN) ®iiud
T B1 Ul eas Td H & 1 Al giatee ditear e W e & @ R 2

WIPRO company has set up a Local Area Network (LAN) to connect computers in
an office building. The company is considering different transmission media

options to establish the network.

() 39 LAN 9¢ 91U & [T 999 o1& ANG TmE) giame Sifear &1 8 7
(A) RS U Fad (B) IUfrae Fe
(C) @B 3ffes dHaa (D) dEXad (Wi-Fi)

What is the most cost-effective transmission media for this LAN set-up ?
(A) Twisted Pair Cable
(B) Coaxial Cable
(C) Fibre Optic Cable
(D) Wireless (Wi-Fi)
(i) HH-T1 M Hifea de g W IeaaH S ZEHT T F&H B © ¢
(A) RS TR Fad
(B) TRt Feret
(C) IR 3ffes e
(D) dER@H (Wi-Fi)

2209/(Set : B) P.T.O.




(12) 2209/(Set : B)

Which transmission media offers the highest data transfer speed over long

distances ?

(A) Twisted Pair Cable
(B) Coaxial Cable

(C) Fibre Optic Cable

(D) Wireless (Wi-Fi)

12. g F o9 AT W "QUICK HEAL' Ud-a/ERg TFeday &Iq a1 8, SH1 I4r 2 &%
S G-aeRd Reed 1 BT B, O SO q9eid B ST 8 ST §, ] o9 S8l BiEd
T TEd el 5, A 98 faEw & yeR & e’ oM & U Ud-aRRE @ o B W
framr &Y @ B 2

Deepti has installed "QUICK HEAL" antivirus software on her laptop. She notices
that her laptop slows down significantly, when the antivirus performs a system
scan, especially when accessing large files. She is considering disabling the

antivirus to improve system performance.

() T-IEE S Iam 9 g & yesle W a9 9e gedr ® 7

What impact does running an antivirus scan have on system performance ?

(ii) TOFeH ® SUAT HXd GHY UEI-qRERE diead] Hi o7& H4 @ Fa1 qRong e ¢

What would be the consequences of disabling antivirus software while

using the system ?

2209/(Set : B)



(13) 2209/(Set : B)

gug - §
SECTION - D
(e 9s)
(Essay Type Questions)
13. g% Ul 41 § ? SEfeiga St @l SR &Y 4
(i STAR
(i) RING

What is Network Topology ? Explain the following topologies :

() STAR
(i) RING
e
OR
frifeiea el e S
() LAN
(i) WAN

(ii) Modem
(iv) Gateway

2209/(Set : B) P.T.O.



(14) 2209/(Set : B)
Explain the following :

(i) LAN
(i) WAN
(i) Modem

(iv) Gateway

14. ©F ST GFR AT & ¢ &% A I S & [T qres e o 4

What is Stack Data Structure ? Write a Python program to insert element in a
Stack.

YT
OR
CRRENECH Y % A Linear Search & @ @ WT&I

Explain Linear Search in detail with an appropriate example.

15. SQL F1 & AR 6% MuH® geh #1 & (DML, DDL &R DCL) ? 4

What is SQL and what are its primary components (DML, DDL and DCL) ?

2209/(Set : B)



(15) 2209/(Set : B)

FfeRad Commands &l ST $Y -
(i) ALTER TABLE

(i) DROP TABLE

(iiij DELETE

(iv) INSERT

Explain the following commands :
(i) ALTER TABLE

() DROP TABLE
(iiiy DELETE

(iv) INSERT
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Please make sure that the printed pages in this question paper are 15 in number
and it contains 18§ questions.

o Jo7-7H ¥ e & @ G T T8 FS TET Tl § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH TV [iET J@ VT G Yee, F9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagar & g st frar Fav T
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Except answer-book, no extra sheet will be given. Write to the point and do not
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2209/(Set : C) P.T.O.



(2) 2209/(Set : C)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() o797 G G - & § & 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) T~ B Fo7 @& 1 § 1 3% % 10 FGTT 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 5% &4 ST TLTOT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) G- 52 % T TGINT 597 &1

Section-C consists of 7 Short Answer Type Questions of 2 marks each.

(v) GUE-§ 7 SdRF [A%T & T 4 o7 3 [9rTF g7 &

Section-D consists of 3 Essay Type Questions of 4 marks each with internal
choice.

2209/(Set : C)



(3) 2209/(Set : C)
gUg - 3

SECTION - A

(egfrs )

(Objective Type Questions)

1. @ s ofFard & X % 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.
(i) FrfoRed & @ #9-91 @ g W fFar S amn fRes 787 8 ?
(A) Enqueue

(B) Dequeue

(C) Peek

(D) Insert at Position

Which of the following is not an operation performed on a queue ?
(A) Enqueue

(B) Dequeue

(C) Peek

(D) Insert at Position

2209/(Set : C) P.T.O.



(4) 2209/(Set : C)
(i) UHEE ¥, TR =6 B W TH AR IoW TH W HIH-81 & oA ol & 7

(A) finally (B) except
(C) catch (D) else

In Python, which block is executed when an exception is raised inside the

try block ?
(A) finally (B) except
(C) catch (D) else

(i) ¥ F&A &0 4 e fw Iw fear o & 7
(A) FTHT F S
(B) ®H T W ITHTN & e aERad H€aR
(C) sl g o aEad HaR
(D) -7 Qo

What is Bluetooth primarily used for ?

(A) Connecting to the internet

(B) Wireless communication between devices over short distances
(C) Long-range wireless communication

(D) Sending e-mails

2209/(Set : C)



(5) 2209/(Set : C)
(iv) GRom @ & 9 H @ [ HF-8 SQL Fige H1 ITANT 6 fiem & 7

(A) order by (B) sort by

(C) group by (D) filter by

Which SQL keyword is used to sort the result set ?
(A) order by (B) sort by

(C) group by (D) filter by

(v) TSR & Jed F Al seasl & @ ... P AT HT &

The main function of a router is to forward ............. between different

networks.
6) R FHIS H TN ST & ST G B & fQ fobam S B

The ........... command is used to retrieve data from a database.

(vii) M H STYATE TSN ST B, @ Faa: finally block Frenfed fwar sir &1 (@) o)

The finally block is only executed, if an exception is raised. (True/False)

2209/(Set : C) P.T.O.



(6) 2209/(Set : C)
(viii) TEEE H, BT @Y & oY REee 7 7T, ST $ad ded Ind A & [ R

(e o7

In Python, the default mode for opening a file is 7/, which stands for read-

only mode. (True/False)

@5 : 79 Ry 79 g9 (ix TF x)7, S4BT (A) ST B (R) % &Y 7 [Ale77 & F97 &/
9% 997 7 79 Ry 17 et § @ @& Awey &1 797 B -

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

(ix) SIIEFEA (A) : STUST FHIS B ST Rl dlferdr § Al R & a1 & deied

HH B [T fpar S B
BRI (R) :HAH F [T 9T A1 Pl IRAMT B B [T USE FHIE H a6 9 FaArel
31T 21
(A) B (A) AR FROT (R) a1 9 & X 3R (R), IRwEE (A) #l 98 e
2l
(B) IRwe (A) 3R ®RYT (R) A1 T&l & Al BROT (R), MBI (A) &l T2 e
T R

(C) SN (A) T 8, AMBT BN (R) 1A B

(D) ST (A) STTT 8, ARBT BT (R) 9 2

2209/(Set : C)



(7) 2209/(Set : C)
Assertion (A) : The UPDATE command is used to modify the values of

existing records in a table.

Reason (R) : The UPDATE command is followed by the SET clause to define

the new values for the column.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

(x) AP (A) : TAE T THR B AAE © Sl @Y P AR a9 Tbal © SR o

FYU T &l T ol
HROT (R) : AERE SR W EEAl a1 WAl § SEa AR ®Ed MWikd 89
afhg 8T B 2|
(A) AR (A) X FR (R) AT 921 B o #RYT (R), S1BeM (A) &l T8 re
2l
(B) SI¥HM (A) X &R (R) A T&l & Al &R (R), S¥HaE (A) & 98t
AT e B

(C) SIRB (A) T B, AP BRT (R) 318 Bl

(D) ST (A) STTT 8, ARBT BT (R) 9 2

2209/(Set : C) P.T.O.



(8) 2209/(Set : C)

Assertion (A) : A virus is a type of malware that can replicate itself and
spread to other Computers.

Reason (R) : Viruses are typically spread by attaching themselves to files or

programs and activating when the file is executed.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

gug -
SECTION - B

(e g 54)

(Very Short Answer Type Questions)
qle : @t 9 offard 1 A% U B o I e T T E

All questions are compulsory. Marks are indicated against each question.

2. 9 (BUS) TS B T o @@ & ¢ 1

What is the primary disadvantage of BUS topology ?

2209/(Set : C)



(9) 2209/(Set : C)
3. FHUFEIT DIT FAT 2 7 HIFTAA b BT U B H T T T 1

What are coaxial cables ? Mention one advantage of using coaxial cable.

4. AR oW R H@Em @ g § R 0 6O S 8, 3 TEEE RFRE YRR @ R
I HYT © 7 1

What type of error does Python raise, if you try to divide a number by zero ?

3TeE
OR

TR § HRA @i & [T 6 SR B SUERT R S ©
What function is used to open a file in Python ?

5. 39 FM S ? 1

What is a database ?

Qs -9
SECTION - C

(g 5)

(Short Answer Type Questions)

e : g S oA g TAE U B b 39 A Ru W

All questions are compulsory. Marks are indicated against each question.

6. UEIX Al H Wb ¥ HEWEW Y HGG Bl & 7 2

How do firewalls help in preventing cyber attacks ?

2209/(Set : C) P.T.O.



(10) 2209/(Set : C)
7. defagy ST giEMSN @i T B Y TG BT § 7 2

How does bandwidth affect the speed of data transmission ?
SLE|
OR

frrferia v wfere fewel fofen -

Write short notes on the following :
(a) HTTP

(b) FTP

8. WLAN & 1 31 &, 3R 36H TIHE IGeed &1 § 7 2
What does WLAN stand for, and what is its primary purpose ?

9. U ¥ YER ST H else R HI T ST © 7 2
What is the use of the else block in exception handling in Python ?
AYAT
OR
TR H IR H $d §€ B o ¢ BRA B WM X H 96 34 §€ B H GEdY © 7
How do you close a file in Python ? Why is it important to close a file after using

it ?

2209/(Set : C)



(11) 2209/(Set : C)
10. s 9 |1 8 7 2

What is Bubble Sort ?

11. AT J o AU W "QUICK HEAL' G&-aRRY ®ifeday IEfa fham &, o9 urn @ &
e UH-aRT e @9 &r 8, O ITH AU Hi%l ST & ST ], WEel 99 Sel BEd
T Tgd B 2, A 98 faEed d e B PR TN F MU dd-arrE B oo FH W
framr &Y @ B 2

Deepti has installed "QUICK HEAL" antivirus software on her laptop. She notices
that her laptop slows down significantly, when the antivirus performs a system
scan, especially when accessing large files. She is considering disabling the

antivirus to improve system performance.

(i) U-TRE @1 gaN 9 oeq & JEeN W R 99E 9sdr © ¢
What impact does running an antivirus scan have on system performance ?

(ii) TOEH ® SUAT HXd GHY UEI-qRERd diead] &l o7& HX4 & Fa1 qRond e ¢

What would be the consequences of disabling antivirus software while

using the system ?

12. fl &1 3 TF el Wad § YU & Sed & U TF MY &5 Hah (LAN) ®iiud
T B1 U eas G B & o1 it giate ditear faeedl W e & @ R 2

WIPRO company has set up a Local Area Network (LAN) to connect computers in
an office building. The company is considering different transmission media

options to establish the network.

2209/(Set : C) P.T.O.



(12) 2209/(Set : C)
() 9 LAN 9 919 & fu 998 o1f¥e arm a9l giamwee Sifear @1 § ?

(A) s T A
(B) hICiraae et
(C) REEY Siffeed Haw
(D) aRAE (Wi-Fi)

What is the most cost-effective transmission media for this LAN set-up ?
(A) Twisted Pair Cable

(B) Coaxial Cable

(C) Fibre Optic Cable

(D) Wireless (Wi-Fi)

(i) HE-T1 grEmE Hifeq do 0 W IeaaH S ZEHT T F&H B © ¢

(A)  TRs T FE
(B) TSI &e
(C) W 3ifes Dt
(D) aRAE (Wi-Fi)

Which transmission media offers the highest data transfer speed over long
distances ?

(A) Twisted Pair Cable
(B) Coaxial Cable

(C) Fibre Optic Cable
(D) Wireless (Wi-Fi)

2209/(Set : C)



(13) 2209/(Set : C)
gus -
SECTION - D
(Frereme® 5159)
(Essay Type Questions)

13. SQL 1 & AR 8% WfWe ges 71 & (DML, DDL 3R DCL) ? 4
What is SQL and what are its primary components (DML, DDL and DCL) ?

3TeE
OR

Frfiad Commands 1 /AT &
(i) ALTER TABLE

(i) DROP TABLE

(i) DELETE

(iv) INSERT
Explain the following commands :
(i) ALTER TABLE

(i) DROP TABLE
(i) DELETE

(iv) INSERT

2209/(Set : C) P.T.O.



(14) 2209/(Set : C)
14. S<gs AEel F1 2 ¢ e St @l e o 4

() STAR
(i) RING

What is Network Topology ? Explain the following topologies :

(i STAR
(i) RING
ST
OR
frfeRaa @l are ST ¢
i LAN
(i) WAN

(iii) Modem

(iv) Gateway

Explain the following :
(i) LAN

(i) WAN

(iii) Modem

(iv) Gateway

2209/(Set : C)



(15) 2209/(Set : C)

15. ¥F 30T EFR 1 & ¢ &% A I S & [T qres e o 4
What is Stack Data Structure ? Write a Python program to insert element in a
Stack.

AYAT
OR

U I % 9G¥ Linear Search @ fq&@r @ Wﬁl

Explain Linear Search in detail with an appropriate example.

2209/(Set : C)
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(2) 2209/(Set : D)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() o797 G G - & § & 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) T~ B Fo7 @& 1 § 1 3% % 10 FGTT 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 5% &4 ST TLTOT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) G- 52 % T TGINT 597 &1

Section-C consists of 7 Short Answer Type Questions of 2 marks each.

(v) GUE-§ 7 SdRF [A%T & T 4 o7 3 [9rTF g7 &

Section-D consists of 3 Essay Type Questions of 4 marks each with internal
choice.
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(3) 2209/(Set : D)
gug - H

SECTION - A

(egfrs )

(Objective Type Questions)

1. @ s ofFard & X % 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.

(i) aROH &< F AE FE d T HH-§ SQL Hiag F IFM f6ar oIl & 7
(A) order by (B) sort by

(C) group by (D) filter by

Which SQL keyword is used to sort the result set ?
(A) order by (B) sort by
(C) group by (D) filter by
(i) Ffated § @ -0 & &g W [6ar S aren SitRee 787 8 ?
(A) Enqueue
(B) Dequeue
(C) Peek

(D) Insert at Position

2209/(Set : D) P.T.O.



(4) 2209/(Set : D)

Which of the following is not an operation performed on a queue ?
(A) Enqueue
(B) Dequeue
(C) Peek
(D) Insert at Position
(iii) UEYE H, TR 6 B W TH STIAR oW S W HH-91 & Foed ol & 7
(A) finally (B) except

(C) catch (D) else

In Python, which block is executed when an exception is raised inside the

try block ?
(A) finally (B) except
(C) catch (D) else

(iv) <[g¥ J& &0 4 fes fw Iwdi fean o & 7

(A) FTHT & S
(B) %9 g W IYH & S aE@d &R
(C) st g N Ay 9K
(D) %AW S
2209/(Set : D)



(5) 2209/(Set : D)

What is Bluetooth primarily used for ?

(A) Connecting to the internet

(B) Wireless communication between devices over short distances
(C) Long-range wireless communication

(D) Sending e-mails

[ T FHHIS B ITN SE & S JTNG FA & QAT S B
The ........... command is used to retrieve data from a database.

(vi) IO & g F R Jeasht & 9 ..o B IRT B 2
The main function of a router is to forward ............. between different
networks.

(vii) IEEM H, BEd G 3 U e #ig 7R, S dad e 3 AiE 3 R R
i/

In Python, the default mode for opening a file is 7', which stands for read-

only mode. (True/False)

2209/(Set : D) P.T.O.



(6) 2209/(Set : D)
(viii) af P STUamE IS@T ST B, A A finally block Feafed far s 1 (@) o)

The finally block is only executed, if an exception is raised. (True/False)

3T : 79 Ry 77 g9 (ix TF x)7, SW¥HYT (A) 7T B (R) % &Y F [Az77 & %97 &
g9% F97 7 A7 [T T el 7 7 G871 [T B TIT FT

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

(ix) STHYR (A) : TIRH TH THR P A@AA & off & P AP a1 Tl & SR 3T
FYU § & FH ol

HROT (R) : AERE SR W EEAl a1 WAl § S5 AR ®Ed MWikd 89 ®
AR BT Bad ol

(A)  STFEEE (A) R FROT (R) AT Tl & R &R0 (R), IRHEE (A) &l T2 e
2|

(B) Siftwed (A) oR FRW (R) a1 @& § AP &R0 (R), I (A) & @&
R e Bl

(C) SIRBE (A) T B, AP BT (R) T8 Bl

(D) SIRMFE (A) ST B, Ak BT (R) T B

2209/(Set : D)



(7) 2209/(Set : D)

Assertion (A) : A virus is a type of malware that can replicate itself and
spread to other Computers.

Reason (R) : Viruses are typically spread by attaching themselves to files or

programs and activating when the file is executed.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

(x) SIEREA (A) : STUST FHIS H WA Rl dferdl § Al Ree & A & daiEd

HA B forg v S B
HROT (R) : HIEH & [T ¢ AFE H IRAMG H & [T UL FAE B 18 e Ffel
T R
(A) TREE (A) AR FROT (R) a1 T & X 3R (R), ARweE (A) #l 98 e
2l
(B) IRrwe (A) 3R ®RYT (R) A1 T&l & Al BROT (R), ST (A) &l T2 e
Sl

(C) SN (A) T 8, QBT BT (R) 1A B

(D) ARMHE (A) T B, AT BT (R) T 2
2209/(Set : D) P.T.O.



(8) 2209/(Set : D)
Assertion (A) : The UPDATE command is used to modify the values of

existing records in a table.

Reason (R) : The UPDATE command is followed by the SET clause to define

the new values for the column.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not

the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

gug -
SECTION - B

(e g 54)

(Very Short Answer Type Questions)

e : g T offFerd T TS U & o 3% 9M+ U U g

All questions are compulsory. Marks are indicated against each question.

2. STEG FT B ? 1
What is a database ?

3. 99 (BUS) TS & T o @@ & ? 1
2209/(Set : D)



(9) 2209/(Set : D)
What is the primary disadvantage of BUS topology ?

4. HUFEIT DaT FAT 8 7 BIUFEAA D BT ST B HN g 1 Il 1

What are coaxial cables ? Mention one advantage of using coaxial cable.

5. 3R oW Rl dEm @ g 8 R $0 #@ I & 8, O TEed BRE SR @ R
I HYT © 7 1

What type of error does Python raise, if you try to divide a number by zero ?
AYqT
OR

qge # WE @l @ [ 6 G & AN e S § 7

What function is used to open a file in Python ?

Qs -9
SECTION - C

(g 5)

(Short Answer Type Questions)

e : g S oA g TAE U B b 39 A Ru W

All questions are compulsory. Marks are indicated against each question.

6. TgT A FT T ? 2

What is Bubble Sort ?

2209/(Set : D) P.T.O.



(10) 2209/(Set :
7. UESX Al B Vb § FHEWEW HY HGG Bl © 7

How do firewalls help in preventing cyber attacks ?

8. PPP & T 31 &, SIX 6 WIS Iqasd F1 © 7

What does PPP stand for, and what is its primary purpose ?

9. defagy ST giMMsN &I fa B &Y TG BT § 7

How does bandwidth affect the speed of data transmission ?

YqT

OR

friciia oX it fewelt fofm

Write short notes on the following :
(@) HTTP
(b) FTP

10. UIYS ¥ TUErE gl & else <ifeh & &1 YA & 7

What is the use of the else block in exception handling in Python ?

2209/(Set : D)



(11) 2209/(Set : D)

OR
UFEE § EE B Y 98 H & ¢ BEA B I F & G639 §€ BN H Aoy © ¢

How do you close a file in Python ? Why is it important to close a file after using

it ?

11. f0 &1 3 TF el Wad § YU & Sed & U TF MY &5 A (LAN) ®iiud
T B1 Ul eas T B & o1 it giatee ditear fawed W e & @ R 2

WIPRO company has set up a Local Area Network (LAN) to connect computers in
an office building. The company is considering different transmission media

options to establish the network.

() 9 LAN 9 919 & fou qod o1fe Arm a9l giamwee Sitear @1 § ?

(A)  Zaws T FE
(B) iUfETw Hee
(C) TRESR &ffftess e
(D) aRAE (Wi-Fi)

What is the most cost-effective transmission media for this LAN set-up ?
(A) Twisted Pair Cable

(B) Coaxial Cable

(C) Fibre Optic Cable

(D) Wireless (Wi-Fi)

2209/(Set : D) P.T.O.



(12) 2209/(Set : D)
(i) HH-TT gEmE Hifed @ g W IeaaH S ZEHT T F&H B © ¢

(A) s T A
(B)  HICfr e
(C) RN afifesh Faa
(D) dER@H (Wi-Fi)

Which transmission media offers the highest data transfer speed over long

distances ?
(A) Twisted Pair Cable

(B) Coaxial Cable

(C) Fibre Optic Cable

(D) Wireless (Wi-Fi)

12. dftg F o9 AT W "QUICK HEAL' Ud-aMERg TFeday &Iq a1 8, SH1 I4r 2 &%
g UE-aERy Red @ HIal €, o SHE AUerY HIB 49T 8 ST 7, SEHEK o del BRd
T Tgd B 2, A 98 e d e B PR TN F MU dd-arrE B oo FH W
e #X @ B 2

Deepti has installed "QUICK HEAL" antivirus software on her laptop. She notices

that her laptop slows down significantly, when the antivirus performs a system
scan, especially when accessing large files. She is considering disabling the

antivirus to improve system performance.

2209/(Set : D)



(13) 2209/(Set : D)
(i) UH-aRE @ TaH § R $ TN W 1 I9E gl ©

What impact does running an antivirus scan have on system performance ?

(i) FrEed &1 STANT XA G99 UE-aRERE QiFeaay Sl STeM B & 1 RO B ?

What would be the consequences of disabling antivirus software while

using the system ?

qig - §
SECTION - D
(e 9s)
(Essay Type Questions)
13. Sead et 4 & ¢ FreRed st S e & 4
() STAR
(i) RING

What is Network Topology ? Explain the following topologies :
(i) STAR
(i) RING

AYAT

OR
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fr=ifata @t arer SR
i LAN
(i) WAN

(ii) Modem

(iv) Gateway

Explain the following :
(i) LAN

(i) WAN

(iii) Modem

(iv) Gateway

14. RF 3¢ EFR FT 8 ? ®F § I S 3 [T I o g 4
What is Stack Data Structure ? Write a Python program to insert element in a
Stack.

HAYAT
OR

IUGHT TS $ WY Linear Search #I R & dwad|

Explain Linear Search in detail with an appropriate example.
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15. SQL F1 & AR 6% MufH® geh &1 & (DML, DDL &R DCL) ? 4

What is SQL and what are its primary components (DML, DDL and DCL) ?

3TeE

OR
frifaRad Commands & /T #X :
(i) ALTER TABLE
(i) DROP TABLE
(iiij DELETE

(iv) INSERT

Explain the following commands :
(i) ALTER TABLE

() DROP TABLE
(iiiy DELETE

(iv) INSERT
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